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However if he transferred - 591> 9279 91292 0% 297w3 KOw 1% 207 92N
it to him without witnesses, since he could say, etc.

Overview

The mwn rules that a craftsman (12X) has no 7p1n.' 7127 qualified this rule that it
applies only if there are witnesses that it was given to the 12X. However if there are
no witnesses, the 1R is believed, for he has a °», since he could have said, ‘this
never happened (2"777%)’. Our mdoIN explains what is meant by the wn of 2"775.

- 9955952 PN 1Y 919 PIY I 2YH9Y PN
We cannot explain the 13> to mean, since he could have said, ‘I have nothing of

yours in my possession’, we should therefore believe him that he bought it; this cannot be -
= 9713y NNRIT PANT NNOPHN NNINTI »999) 3IN92 XNT

For this is a case where witnesses saw the item by the mIX, as is evident from the
challenge of »2& in the ruling of ‘he saw his slave’, etc.

mooIn explains the meaning of 0" 77%:
= PNNIN NNNA YD XAY ODIYN D937 19N XY 99D DIDFY TINN 1YW 91 KON

Rather this is the explanation of the 12°»; since he could say, ‘it never happened

that it came into my possession as a job -
= 59909PN Y973 5D 1991 NN ANNRY 1991 NN 23 N 991 NN NIN

Rather it was sold to me’, or he may also claim, ‘you sold it to someone else,
and he sold it to me’, as the 2''2w1 explained —

In summation: the 13 of 0"71% is that the 12 could have claimed. ‘it was never given to me as a
craftsman, rather I bought it from you, or from someone else who bought it from you’, therefore

! This means that if you gave you clothes to a tailor and the tailor claims that he bought it from you, and you have
witnesses that it was yours, we do not believe the tailor even though he is in possession of the clothes. By anyone
else (who is not an 12X) we believe the one who is a prmn.
2 See (however) 0"2w" in the beginning of ar 71"7 (who seems to disagree with n1oo1n).
3 %1 means that 07v saw the item by the 1%, currently, while the n™7 is taking place and recognize that this
belonged to the claimant..
4 See 2,Mn. R contradicts 727 from a Xn»72 of X", which indicates that 727 is also discussing a case of nX7,
otherwise there is no question on 7727. Therefore 2"777% cannot mean that, ‘I do not have it’, since we are discussing
AR,
3 See 9ax 1"7 0"2wn. Therefore since he has the 13°n that he could have said, ‘I bought it from you, etc.’ therefore
even if the 12 admits that he first accepted it as an 12 (to repair it), and later he bought it, he is believed (see
R"wIN).
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if he claims, ‘I bought it from you after you gave it to me to repair’,® the 1 is believed.
However 0"777% cannot mean that the 12 claims that he does not have it, because we are (even)
discussing a case where witnesses saw the item by the 72IX.

mMooIN asks:
= ©7¥2 97 9017 XN NPIN 1Y PRT MDIN NN INI 99NN ON)

And if you will say why is the 71wn teaching that an 28 (specifically) has no
7P, (and only) in a case where it was transferred to him in the presence of

witnesses, as 727 maintains -
- VP NN 1Y AW DITY WIY 113 3133 INN 199N

Even another who is not an mX, also has no 7P, since there are 2°7v that it

came into his possession as a deposit —
= ©7¥2 97 INNY TOISY 7Pr01NT INND NN RD 199N

And even if it was not seen in his possession currently, nevertheless there is no
7211, according to this which the X713 concludes in the name of 727 that he must

return it to him with witnesses -
- 9297 PNYT NPYO INNT NYP PN Y313 YaN NY 7099 SnpY

And later, indeed, prx® 72 1" asks this very same question, but nevertheless

there is a difficulty, for what did 7739 assume to differentiate between an 7K and a
non-jnR?!

NIBOIN answers:
= 111P9 NN ON 999 NN ONX DN293 YWD XD DN DY7¥3 1Y 9919V 1D 999 v

And we can say that we are discussing a case where for instance he ‘merely’
transferred the item in the presence of witnesses, but did not specify in the

presence of the witnesses whether this transference is for a sale or as a deposit -
- 129959 X947 1199 19 901 1970 RANDNT NPIN 1Y PN NIN NPT 9979

So therefore in this case, only an 18 has no 11?11, for presumably, he gave it to
the 12X to repair it, since the 7 did not specify that it was a sale -

¢ See ‘Thinking it over’ # 1.
7 2,7n. 727 ruled there that if one deposits something by his friend in the presence of 27y, he must return it in the
presence of 07y, otherwise he is not believed to claim, ‘I returned it’ (or I bought it).
8 x,m.
9 If he gave it to him in the presence of @>7v; how can there be a difference between an 12X and a non-1218?!
10 Obviously the ruling that 7pIn 12 PX 1R certainly applies in a case where the 07y know that it was given for
repairs, MO0 is saying that the distinction between 12X and JnX is in the case where ond 0°7v2 17 Jon.
' A 11770 here (regarding the 12X) means that it was given for repairs.
12 Usually one gives an item to an 12 to repair it, not as a sale. If the 1% bought it, he should have clarified it to the
o7y,
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= NI NIHN IN 9919 NINDN BPTpa NINY ¥ Xo 9NN YaN
However regarding someone else, who is not an X, since the owner did not
specify that it was a deposit, presumably it was cither a sale or a gift —

maon responds to an anticipated difficulty: !4
= APINIY YW ANNR RN APIN 1Y PRT NXIN ININ SNINDN 9102 75997 PNYS 92 1IN a9

And 5'"217 who challenged 727 in the end of this X°x9, saying why is there this

difference that only an 7Pt Y% X 7238 however 7ptm Y2 w> 9nR; what is the
challenge, m»o1n just explained the difference?!

mooIN responds:
= HYOY NDT NPT N2 1619892 NMPIND 19N 29 19D 93NN NY

It does not seem reasonable to 1''9 to establish the rule of X in a case where
0’7y saw, without knowing what they saw, for this is uncommon!
- 18595985 N DYTY Y DITY NIONT IN [17119393 Dr99] 799975
A X211 asked previously on M2X, ‘if there are 27, let us see what the 2>7v say -
= NNONPN YT XYY D119 NUNIY NIV NIY
For it is not common that he transferred it in the presence of 2’7y, and the o>7v

do not know the fixed price, so just as there we assume the 0>7v know the price -
- 11 92D NN RYN 7599 XY PR 93 19N 29 3193 NI

So here too 1''7 only asked his question on 7727 based on this logic that if there are

o7y, they certainly are aware of the circumstances surrounding this transfer -
= PN 1Y YW INNN INN DY RIINT IN 7299 29

And this is the challenge of °"217, if there are 2>7¥ why does the =nx have a
aen?!
- 1YY NON NP NNINAT DOTY SYT TN YY NN

For perforce the 2>7» know that it came into his possession as a deposit (just like
by the 1K) -

13 When one gives a deposit he expects it to be returned, therefore the owner should have specified to the witnesses
that this is a deposit (and he needs two witnesses to attest to it). Since the owner did not say it, this indicates that it is
not a deposit, and so therefore the recipient has a 7p1m.
14 How did >"211 challenge 727; seemingly we just gave a valid explanation why an P11 12 X 128, however > MR
7P Y2, in a case where there were 0779, but the purpose of the transfer was not specified for the witnesses.
15 See footnote # 8. >"217 asks if there are 07y why should there be a difference between 72X and 71X
16 This "X is referring to the 0>y seeing the transfer of the item from the owner to the . [This is not the X"
mentioned previously (footnote # 3) which means that they currently see the item by the 12X.]
1727 on the very bottom. The case there is where the 1298 and the owner are arguing on the price they agreed upon
for the repair. The X722 asks if there were witnesses, let us ask them what they have to say.
18 According to Mmoo explanation previously, what is the question, there were 07y, but nothing was specified.
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= 995 NYaY NYT K'Y XYY 9272 YNmpIND 9anvn XY
For it is not logical to establish this ruling in a situation where [for instance] it is
a matter where the 2°7v do not know the circumstances, for it is totally unusual!

In summation: 727 maintains that he reason an 12X is different from “nX (in a case where there
are 0°7Y), is because nothing was specified in the presence of the 0’7y, therefore by an X we
assume that it was for repair and by 71X we assume it was for a sale. However >"217 maintains
that this is a very unusual situation that the o7¥ do not know the details, so the mwn is not
discussing it. Therefore there is the question why is an 2nX different from an 72IX.

mooIn cites a question and answer from the o"awA:
= 2195WNYY DINWAYD PHVYYN 09279 NIY NI 1IIND NPIN W INNN 2090393 AYpn

The 2'"'aw= asked why did 727 state that an 238 has a apm if it was given to him
without 0°7v; why is this different from items which are made to lend out or to

rent out; where the rule is that by these items there is no 7p?
- DN 59 2) POV 9IUNY) IRYNY PHUYN D927 ¥

And he answered that 29w »Rwab 1w 2927 applies to all people -
— 229919 YOSN D9 TN PN 9199125 '8 NN YaN

However here the 28 can claim, ‘you are not accustomed to have me repair
your items’ —

Moo offers his resolution to this issue:
= PONY W VSN 1PNY D9 ID2ORT 9MIN PNHYY 139399

And the °"9 says that even if he is accustomed to repair by this MK,

nevertheless we can distinguish between 12w 2w wyn 0937 (where ARt 2 PR)
and the case of 1% (where npin 1% w» [if there are no 27¥]) -
= AN NINY 92910V DTN 22X 192 7Y 9YND) DINYNAD 1PNV 09317

For regarding the rule by 79w »oRwah Pawps 29927 that there is no 7pin, this
rule applies whether it is regarding a person whom he recognizes as being
honest -

19 The n"2n mman amends this to read X7 1as 7MIPIRY (instead of 897 2272 7MPRY).
20 See 2ax 11"7 o"2wn. The reason a person is believed that whatever is in his possession belongs to him, is because
we assume that if it was not his, how is it in his possession. However by 2Xwn®> Pwyn 0127, we say that even
though it is in his possession, nevertheless it is not sufficient proof that it is his, perhaps he borrowed it or rented it.
21 Presumably the item which he gave to the 1R are included in the category of 7P 12 PX; we can say it is in the
s'ImR possession because it was given to him to repair. (even if actually it is not 192wa?1 2Xw? PWwyn 0°717).
22 A person may rent or lend his items to anyone, so the owner can always claim to the holder of the item, ‘I lent it to
you’. Therefore there is no P11, however regarding an 12 if the owner claims that he gave it in for repairs, the 72X
can counterclaim, ‘you are not my customer, so it must be that I bought it from you’.
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- 959UNYY HINYNY NYITWI DM1Y TRYNY NPY 3 19 PN PN IOPNY 291 P2
Or whether he recognizes that he is not honest (he lends and rents to everyone),

and he cannot have 2>7¥ present every time when he wants to lend or rent out.

the reason he cannot always require witnesses to be present, is in order -
- Bypyova $h 0V 18y NOUND NOY

That he should not make a bad name for himself among his neighbors -
= 07Y N¥2ND IN AN NINY 929191 1IIND 11190 D192 1PNY NN 7298 ON IIND YaN

However regarding an y2', if he needs an item to be repaired, he can give it to

an 12X whom he recognizes as being honest, or to bring witnesses when he gives

him the item to repair -
:097¥3 XYW #nPin v v a0

Therefore the 7% has a apmn if it was not delivered to him in the presence of
297V,

Summary
The 2» of 2"71% is that it was never given to me for repairs, rather I bought it from

you initially. The distinction between 21X 12X where there are 27¥ is in a case
where they were not explicit as to the nature of the transaction. The difference
between 2°Rwi Wy 02127 and MR (without 1) is that the former applies to all
people while the 12X can claim you are not my customer (2"2w"), or that by an 12X
he should have brought o°7¥ if he did not trust him.

Thinking it over
1. Why is the 2 claim of the 12X, that I initially bought it from you, a more

believable claim,? than the actual claim of the 12X, that I bought it from you after
you handed it to me for repairs?!

2. mpoIn explains why an 12X has a 7pm in a case where there are no o7v.%¢
Seemingly if he has a P, why is it necessary to say that he is believed because of
a 1°n, he should be believed because of the ripin?!

23 Therefore it is not a 1ptr, for the initial owner claims, ‘I lent it to him, and the reason there are no witnesses is
because I cannot afford to have witnesses by every transaction, for then people will say, ‘I’'m not a pleasant
neighbor’.
24 1t is obvious that the owner trusts this 12X, otherwise why are there no 0>7v. Therefore since he trusts the 12X, the
19X is believed (with a 1n). See ‘Thinking it over’ # 2.
25 See footnote # 6.
26 See footnote # 24.
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